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POWER PLANT ENGINEERING

fuffaamg . 3 @) (Fftrehad 31 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
P () VA-rFAATEEAY AT
Note : There are THREE sections in the paper A, B and C.
i) e T d yvT gEEr 1 & @4t 10 YT @ I G | GedieF YT U 3 18 Ud
@t 10 5T TG FFR & T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) AT & & 8 yv 4 8 [ 6 vt & I A0 | FeF 99 3 b HTE @
3771 5 TIET / 50 &gl 4 I G /|

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) A F 6 T A 8 el 4 gvl & I AT | TAF T 8 3HF F1 8 T
577 15 % / 150 91&gl 7 37 AT |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

v) TR G F T 9T I FHAR T T & HNAT |

Solve all the questions of a section consecutively together.
(vi) eﬁwﬁﬁmﬁ#aﬁ@ﬁﬁmaﬁaﬁs&m? /

Only English version is valid in case of difference in both the languages.

FaH - T
Section — A
L () P d e v e et v w7
(a) TeAtagd vfdd 634 (b) HRIE FuThE Nfdd @
(c) @it wifad & (d) fiehia wifed o=

Which of the following power plant is a peak load power plant ?
(a) Hydroelectric power plant (b) Coal based power plant
(c) Diesel power plant (d) Nuclear power plant

(10f4) P.T.O.
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(i)
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v)

(vi)

(vii)

ardtg wife To o 2tarea feua g 2

(a) WTgeR d vEt (b) aTFeR 3R A F 7ed
(c) 4% gwE™ (d) Iwied | @ HIS TE
In thermal power plants, turbine is placed

(a) before boiler (b) in between boiler and generator
(¢c) after generator (d) None of the above

. et o ¢ e foara e 2

(a) 3MHR ¥R (b) FomErsm

(c) 3ftEa R (d) 3¥Edd

Load which remains constant for the whole day is

(a) Base load (b) Peak load

(c) Average load (d) Discrete load

fawan 7onss %1 | g 2

(@ 0 (b) 1

(c) 187 d) 138 zfus

The value of diversity factor is

(a) 0 (b) 1

(c) lessthan I (d) greater than 1

el Firana faesfa e 2

(a) FeTERH (b) TwRIZEH

(c) feeetta aema (d) T@EEAH

Water hammer is developed in

(a) Penstock (b) Draft tube

(c) Surge tank (d) Turbine

= 4 | form v W Sefaea wfe @97 fm adf 2 2

(a) HTEST AT (b) eIEl

(c) P (d) TrEaTe

At which of the following places, a hydro-electric power plant is not located ?
(a) Bhakra Nangal (b) Koyna

(c) Hirakud (d) Rawatbhata

fr= 4 & fopm ifirehira froger § W & 3eqrea & oo Fen fafaars 6 srawsa
TR 7

(a) T wfifaa froget (b) @ urg faa frogex

(c) o™ gaa o fuget (d) =Y F fugex

Which of the following nuclear reactor does not need a heat exchanger for
generation of steam ?

(a) Gas cooled reactor (b) Liquid metal cooled reactor
(c) Pressurised water reactor (d) Boiling water reactor
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(a) - (b) A I

(c) SIae 9k (d) ==

A gas turbine works on which cycle ?

(a) Carnot cycle (b) Brayton cycle

(¢) Diesel cycle (d) Rankine cycle
(ix) e 1 § 19 |1 Sioe Wi 999 &1 qH SSE A 2 7

(a) I wR HEA (b) =& HFA

(c) FHT W HaH d) @ 3T

Which of the following is not the general application of diesel power plant ?

(a) Peak load plant (b) Mobile plant

(¢) Base load plant (d) Stand by unit

(x) 3wt aul & 9ET IreEwl &
(a) HoH ATFEISE T HlEA HAFETES
(b) ATEEIS HATFETEE 9 Hodl HFET3S
(c) HTEA STE-HATHATEE 9 FHTaA HHAIFATES
(d) ATEEISE HFETEE 9 e AlHE1ES
The main contributors of acid rain are
(a) Sulphur oxides and Carbon oxides
(b) Nitrogen oxides and Sulphur oxides
(¢) Carbon dioxide and Carbon monoxide
(d) Nitrogen oxides and Carbon oxides

Yoy — &t
Section - B
2. ﬁmm@mﬁéﬁ%maﬁmﬁmmaﬁmﬂmml
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(1x10)

Explain three factors affecting choice and type of power plant for power generation.  (3)

3. W e AU M I <t afeafia i |

Define load curve and load factor.

4, el vt E5 A g E R 7
What is draft tube in hydroelectric power plant ?

5 droe v G99 % HIS dF o e |

Write any three disadvantages of diesel power plant.

6. hmﬁmﬁmmﬁﬁé@ﬁﬁml

(3

3)

3)

Explain any one method used to improve the performance of gas turbine power plant. (3)

P.T.O.



ME/MAS50041 (4 0f4) 7327

10.

11.

12.

13.

14.

15.

aifirhrg froge 1 w=s amifea faa &m0 |

Draw a neat labelled diagram of nuclear reactor. (3)
“1ff 139 9IS 1 HHSATIT |

Explain “Green House Effect™. (3)

Fifyehra safire faamu & i d= fafuat fafeo )

Write any three methods of nuclear waste disposal. (3)
o - €
Section - C

ardfra wifea w9 & SR gy it &1 fawm & wmesmse |

Explain four major circuits of thermal power plant in detail. (8)

vifga G931 & faeares va aftames Seon =) gusse |

Explain performance and operating characteristics of power plant. (8)

Fetferggd wife = % € 95 & fore faem fomd s aret fafi= w1 avia Sifs |

Describe the various factors considered for site selection of hydroelectric power
plants. (8)

it wifaa @93 & afi ugfedi #1 guria aren va @i fom w=mu | sfaem vgfa 3 we

ugfa @1 fawga avia Fifam |

Draw a neat line diagram of diesel power plant showing all the systems. Describe in
detail the cooling system and lubricating system. (8)
FaYA el fruget %1 afaa avia Hifao |

Describe boiling water reactor with neat sketch. (8)

yifer G 1 3T 9 areft guan Aifa @1 fawam & sweme |
Explain safety policy to be observed in power plants in detail. (8)




